Investigation of a double arm pendulum

[image: image1.bmp]
AIM

The aim of this experiment is to investigate the behaviour of the double arm pendulum.

(It is important to realise that this is not a ‘double pendulum’ where one pendulum is fixed to the end of another.)

YOU WILL NEED

A length of stiff wire  (about 40cm long) of the type found in a wire coat hanger  A retort stand and boss  

A short (10cm) length of the wire to use as a pivot  

A stopwatch  A ruler or protractor  A G clamp

WHAT TO DO

Measure the length of your wire (L). Bend it into a V shape and measure the angle (A) between the two arms of the V.

Set up the apparatus as shown in the diagram with the V shaped piece hanging over the short piece of wire.

Disturb the V shaped wire slightly and then release it so that it oscillates in a plane at right angles to the supporting wire (i.e. in the plane of the V).

Measure the time for ten complete oscillations (10T) and thence work out the period of the motion (T).

Repeat this process for a series on angles (A) between 10o and 90o.

ANALYSIS AND CONCLUSION

Plot a graph of 1/T4 against cos (A) and determine the gradient of your graph. Suggest a possible equation for the motion.

FURTHER WORK

Try oscillating the wire at right angles to the plane of the V.
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